			FINAL CA Andheri May 21	Nov 21 - TIME TABLE						
ВАТСН	04-11-2020	05-11-2020	06-11-2020	07-11-2020	08-11-2020	09-11-2020	10-11-2020			
	WEDNESDAY	mu man an		0.000 mp. a.v.	ann.v		THE THOP AND			
	WEDNESDAY	THURSDAY	FRIDAY	SATURDAY	SUNDAY	MONDAY	TUESDAY			
	We are starting with your Audit portion.  We have lectures of 2 faculties - one in HIndi+English and another in only English .  You can select either of them to view the lectures.  But once selected- students are advised to view the same set rather than changing everyday.  For your reference we shall mention both the set of lectures in TT of similar duration - everytime we allot Audit  Click on link for Lecture Index and Text book									
	http://tiny.cc/z2i1tz									
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM			
	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )			
LA + LAA + LA1	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )			
LA2	(Lecture of English)	(Lecture of English)		(Lecture of English) AAS - SA 505	(Lecture of English)	(Lecture of English)	(Lecture of English)			
	AAS - Introduction	AAS - SA Basic	(Lecture of English)	AAS - SA 505 AAS - SA 580	AAS - SA 550	AAS - SA 540	AAS - SA 620			
	AAS - SA Basic	AAS - SA 200	AAS - SA 200 , SA 210	AAS - SA 510	AAS - SA 560 AAS - SA 570	AAS - SA 600 AAS - SA 610	AAS - SA 402			
	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	AAS - SA 501 Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129	Lecture 1.130 TO 1.142			
	OR	OR	OR	OR	OR	OR	OR			
				(Lecture of Hindi + english)						
	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing			
	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03			
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM				
	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )				
	FR (IND AS )	FR (IND AS )	(Audit Starts )	(Audit )	(Audit )	(Audit )				
на наа			(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English)  AAS - SA Basic  AAS - SA 200  AAS - SA 210	(Lecture of English) AAS - SA 210 AAS - SA 505	(Lecture of English) AAS - SA 580 AAS - SA 510				
на наа			Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.62	Lecture 1.63 TO 1.76				
			OR	OR	OR	OR				
	(IND AS 36)	(IND AS 36 Over )	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics				
	(lecture 100, 101)	(lecture 102,103)	Lecture 1.01 TO 1.03	Lectture 1.04 TO 1.07	Lectture 1.08 TO 1.11	Lectture 1.12 TO 1.13				
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM				
	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )				
	FR (IND AS )	FR (IND AS )	(Audit Starts )	(Audit )	(Audit )	(Audit )				
HA1	(IND AS 108)	(IND AS 108 , 40 over )	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English)  AAS - SA Basic  AAS - SA 200  AAS - SA 210	(Lecture of English) AAS - SA 210 AAS - SA 505	(Lecture of English) AAS - SA 580 AAS - SA 510				
			Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.62	Lecture 1.63 TO 1.76				
			OR	OR	OR	OR				
			(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics				
	(lecture 82,83,84)	(lecture 85,86)	Lecture 1.01 TO 1.03	Lectture 1.04 TO 1.07	Lectture 1.08 TO 1.11	Lectture 1.12 TO 1.13				

Please Note: This Time-Table is From 04-11-2020 (Wednesday) To 10-11-2020 (Tuesday )  ${\rm OUR~24~x~7~SMS~HELPLINE~9930767515}$ 

	FINAL CA BORIVALI May 21 Nov 21 - TIME TABLE											
	BATCH	04-11-2020	05-11-2020	06-11-2020	07-11-2020	08-11-2020	09-11-2020	10-11-2020				
		WEDNESDAY	THURSDAY	FRIDAY	SATURDAY	SUNDAY	MONDAY	TUESDAY				
		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM				
	LB	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )				
		Paper 7: Direct Tax Laws and International Taxation (English)	(Direct TAX)	(Direct TAX)	(Direct TAX)	(Direct TAX)	(Direct TAX)	(Direct TAX)				
		Profit and Gains from Business and Profession	Profit and Gains from Business and Profession	Profit and Gains from Business and Profession	Profit and Gains from Business and Profession	Profit and Gains from Business and Profession	Profit and Gains from Business and Profession	Profit and Gains from Business and Profession OVER				
		(Lecture no 3.1 TO 3.04)	(Lecture no 3.05 TO 3.09)	(Lecture no 3.09 TO 3.16)	(Lecture no 3.17 TO 3.26)	(Lecture no 3.27 TO3.32 )	(Lecture no TO 3.33 TO 3.36 )	(Lecture no 3.3.37 TO 3.45 )				
		We are starting with your Audit portion.  We have lectures of 2 faculties - one in HIndi+English and another in only English .  You can select either of them to view the lectures.  But once selected- students are advised to view the same set rather than changing everyday.  For your reference we shall mention both the set of lectures in TT of similar duration - everytime we allot Audit  Click on link for Lecture Index and Text book  http://tiny.cc/22i1tz										
		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM				
		(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )				
		(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )				
BORIVALI MAY 21 NOV 21	LBB + LB 1	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610	(Lecture of English) AAS - SA 620 AAS - SA 402				
ORIVALL		Lecture 1.01 TO 1.13 OR	Lecture 1.14 TO 1.30 OR	Lecture 1.31 TO 1.51 OR	Lecture 1.52 TO 1.84  OR	Lecture 1.85 TO 1.108 OR	Lecture 1.109 TO 1.129 OR	Lecture 1.130 TO 1.142 OR				
_		(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing				
		Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03				
		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM					
		(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )					
		(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )					
	НВВ НВ1	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610					
		Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129					
		OR	OR	OR	OR	OR	OR					
		(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over					
		Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08					

Please Note: This Time-Table is From 04-11-2020 (Wednesday) To 10-11-2020 (Tuesday )

OUR 24 x 7 SMS HELPLINE 9930767515

		FINAL	.CA DADAR AND MATUNGA	May 21 Nov 21 - TIME TABLE						
ватси	04-11-2020	05-11-2020	06-11-2020	07-11-2020	08-11-2020	09-11-2020	10-11-2020			
	WEDNESDAY	THURSDAY	FRIDAY	SATURDAY	SUNDAY	MONDAY	TUESDAY			
	We are starting with your Audit portion.  We have lectures of 2 faculties - one in HIndi+English and another in only English .  You can select either of them to view the lectures.  But once selected- students are advised to view the same set rather than changing everyday.  For your reference we shall mention both the set of lectures in TT of similar duration - everytime we allot Audit  Click on link for Lecture Index and Text book  https://tiny.cc/z2/1ttz									
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM			
	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)			
	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit)	(Audit )			
LDD + LD1	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English)	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610	(Lecture of English) AAS - SA 620 AAS - SA 402			
	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129	Lecture 1.130 TO 1.142			
	OR	OR	OR	OR	OR	OR	OR			
	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing			
AMTONGA AMTONGA	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03			
X VIG	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM				
DADA	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )				
	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )				
HDD + HD 1	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610				
	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129				
	OR	OR	OR	OR	OR	OR				
	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over				
	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08				
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM			
	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )			
MATUNGA LT	(FR IND AS)	(FR IND AS)	(FR IND AS)	(FR IND AS)	(FR IND AS)	(FR IND AS)	(FR IND AS)			
	(IND AS 21 Over) (IND AS 16 )	(IND AS 16)	(IND AS 16)	(IND AS 16 ) (IND AS 108 )	(IND AS 108 ) (IND AS 40)	(IND AS 20 )	(IND AS 20 )			
	(Lecture 74,75 )	(Lecture 76,77)	(Lecture 78,79)	(Lecture 80,81,82,83 )	(Lecture 84,85,86, )	(Lecture 94,95)	(Lecture 96,97)			

Please Note: This Time-Table is From 04-11-2020 (Wednesday) To 10-11-2020 (Tuesday)
OUR 24 x 7 SMS HELPLINE 9930767515

FINAL CA CHARNIROAD May 21 Nov 21 - TIME TABLE									
BATCH	04-11-2020	05-11-2020	06-11-2020	07-11-2020	08-11-2020	09-11-2020	10-11-2020		
	WEDNESDAY	THURSDAY	FRIDAY	SATURDAY	SUNDAY	MONDAY	TUESDAY		

We are starting with your Audit portion.

We have lectures of 2 faculties - one in HIndi+English and another in only English .

You can select either of them to view the lectures.

But once selected- students are advised to view the same set rather than changing everyday.

For your reference we shall mention both the set of lectures in TT of similar duration - everytime we allot Audit

Click on link for Lecture Index and Text book http://tiny.cc/z2i1tz

		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM
		(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)
		Other Law OVER (The Insolvency & Bankruptcy Code 2016)	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )
	LC + LCC	(Lecture 5 to 9)	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210 ,SA 505	(Lecture of English) AAS - SA 505 AAS - SA 580 AAS - SA 510	(Lecture of English) AAS - SA 501 AAS - SA 550 AAS - SA 560	(Lecture of English) AAS - SA 570 AAS - SA 540
			Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.53	Lecture 1.54 TO 1.76	Lecture 1.77 TO 1.99	Lecture 1.100 TO 1.115
			OR	OR	OR	OR	OR	OR
			(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over
			Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.11	Lecture 1.12 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08
		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM
		(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)
		(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )
Ф	LC1	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610	(Lecture of English) AAS - SA 620 AAS - SA 402
CHARNIROAD		Lecture 1.01 TO 1.13 OR	Lecture 1.14 TO 1.30 OR	Lecture 1.31 TO 1.51 OR	Lecture 1.52 TO 1.84 OR	Lecture 1.85 TO 1.108 OR	Lecture 1.109 TO 1.129 OR	Lecture 1.130 TO 1.142 OR
		(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing
		Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03
		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	
		(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library)	
		(Co Law ) Appointment and qualifications of Directors	(Co Law ) Appointment and qualifications of Directors	(Co Law ) Appointment and qualifications of Directors	(Audit Starts )	(Audit )	(Audit )	
	НСС НС1	M12 V12 Appointment of Women Director for Specified Companies [Rules] M13 V13 Section 149(4) – Independent Directorand section 150]	M14 V14-Section 151 - Appointment of director elected by small shareholders [Public Co] M15 V15 Section 161(1) – Additional Director M16 V16 Section 161(2) – Alternate Director-	M17 V17 Section 161(3) – Nominee Director TO M22 V22 Section 170, 171 & 172	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210 ,SA 505	
		(Lecture 12,13)	(lecture 14,15,16)	(lecture 17 to 22 )	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.53	
					OR	OR	OR	
					(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	
					Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.11	

Please Note: This Time-Table is From 04-11-2020 (Wednesday) To 10-11-2020 (Tuesday )  ${\rm OUR~24~x~7~SMS~HELPLINE~9930767515}$ 

	FINAL CA Ghatkopar May 21 Nov 21 - TIME TABLE											
Г	ватсн	04-11-2020	05-11-2020	06-11-2020	07-11-2020	08-11-2020	09-11-2020	10-11-2020				
Λ.	BATCH	WEDNESDAY	THURSDAY	FRIDAY	SATURDAY	SUNDAY	MONDAY	TUESDAY				
		We are starting with your Audit portion.  We have lectures of 2 faculties - one in HIndi+English and another in only English .  You can select either of them to view the lectures.  But once selected-students are advised to view the same set rather than changing everyday.  For your reference we shall mention both the set of lectures in TT of similar duration - everytime we allot Audit  Click on link for Lecture Index and Text book  http://tiny.cc/z2i1tz										
		Between 7 AM to 10 AM (Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library )	Between 7 AM to 1 PM (Watch Video from the library)	Between 7 AM to 1 PM (Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library )				
		(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )				
	10 1101	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English) AAS - SA 505 AAS - SA 580 AAS - SA 510 AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610	(Lecture of English) AAS - SA 620 AAS - SA 402				
	IG + IG 1	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129	Lecture 1.130 TO 1.142				
		OR	OR	OR	OR	OR	OR	OR				
		(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing				
GHATKOPAR MAY 21 NOV 21		Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03				
21 N		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM				
R MAN		(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)				
KOPAI		(OTHER LAW) FEMA	(OTHER LAW) FEMA Over	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )				
GHATI	LGG			(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200 AAS - SA 210	(Lecture of English) AAS - SA 210 AAS - SA 505	(Lecture of English) AAS - SA 580 AAS - SA 510	(Lecture of English) AAS - SA 501 AAS - SA 550				
				Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.62	Lecture 1.63 TO 1.76	Lecture 1.77 TO 1.91				
				OR	OR	OR	OR	OR				
				(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over	(Lecture of Hindi + english) Co AUDIT				
		(Lecture 12)	(Lecture 13,14)	Lecture 1.01 TO 1.03	Lectture 1.04 TO 1.07	Lectture 1.08 TO 1.11	Lectture 1.12 TO 1.13	Lecture 2.01 TO 2.02				
		Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM					
		(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )					
		(Standard Costing)	(Standard Costing Over )	(Audit Starts )	(Audit )	(Audit )	(Audit )					
	HGG +HG1	Standard Costing-Question 29,30	Standard Costing-Question 31,32	(Lecture of English)  AAS - Introduction  AAS - SA Basic	(Lecture of English)  AAS - SA Basic  AAS - SA 200  AAS - SA 210	(Lecture of English) AAS - SA 210 AAS - SA 505	(Lecture of English) AAS - SA 580 AAS - SA 510					
				Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.62	Lecture 1.63 TO 1.76					
				OR	OR	OR	OR					
		(1)		(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over					
		(Lecture no 241,242)	(Lecture no 243,244)	Lecture 1.01 TO 1.03 ne-Table is From 04-11-2020	Lectture 1.04 TO 1.07	Lectture 1.08 TO 1.11	Lectture 1.12 TO 1.13					

Please Note: This Time-Table is From 04-11-2020 (Wednesday) To 10-11-2020 (Tuesday ) OUR 24 x 7 SMS HELPLINE 9930767515

FINAL CA MULUND May 21 Nov 21 - TIME TABLE										
BATCH	04-11-2020	05-11-2020	06-11-2020	07-11-2020	08-11-2020	09-11-2020	10-11-2020			
	WEDNESDAY	THURSDAY	FRIDAY	SATURDAY	SUNDAY	MONDAY	TUESDAY			
	We are starting with your Audit portion.  We have lectures of 2 faculties - one in HIndi+English and another in only English .  You can select either of them to view the lectures.  But once selected- students are advised to view the same set rather than changing everyday.  For your reference we shall mention both the set of lectures in TT of similar duration - everytime we allot Audit  Click on link for Lecture Index and Text book  http://tiny.cc/22i1tz									
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM			
	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library			
	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )			
LM + LM1	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English)  AAS - SA Basic  AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610	(Lecture of English) AAS - SA 620 AAS - SA 402			
	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129	Lecture 1.130 TO 1.142			
	OR	OR	OR	OR	OR	OR	OR			
	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing			
	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03			
^ 2	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM			
S <sub>O</sub>	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library			
r 21	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )			
MULUMD MAY 21 NOV 12 NO	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610	(Lecture of English) AAS - SA 620 AAS - SA 402			
2	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129	Lecture 1.130 TO 1.142			
	OR	OR	OR	OR	OR	OR	OR			
	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing			
	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03			
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM			
	(Watch Video from the library ) (Audit Starts )	(Watch Video from the library ) (Audit )	(Watch Video from the library ) (Audit )	(Watch Video from the library) (Audit )	(Watch Video from the library) (Audit )	(Watch Video from the library) (Audit)	(Watch Video from the library			
HM HMM HM1	(Lecture of English) AAS - Introduction AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English)  AAS - SA 505  AAS - SA 580  AAS - SA 510  AAS - SA 501	(Lecture of English)	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610				
	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129				
	OR	OR	OR	OR	OR	OR				
	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over				
	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08				

Please Note: This Time-Table is From 04-11-2020 (Wednesday) To 10-11-2020 (Tuesday)

OUR 24 x 7 SMS HELPLINE 9930767515

ватен	04-11-2020						
		05-11-2020	06-11-2020	07-11-2020	08-11-2020	09-11-2020	10-11-2020
	WEDNESDAY	THURSDAY	FRIDAY	SATURDAY	SUNDAY	MONDAY	TUESDAY
	t Audit						
	Between 7 AM to 10 AM Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library )	Between 7 AM to 1 PM (Watch Video from the library)	Between 7 AM to 1 PM (Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library )	Between 7 AM to 10 AM (Watch Video from the library)
	(Audit Starts )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )	(Audit )
LDM1 LDM2	(Lecture of English)  AAS - Introduction  AAS - SA Basic	(Lecture of English) AAS - SA Basic AAS - SA 200	(Lecture of English) AAS - SA 200 , SA 210	(Lecture of English) AAS - SA 505 AAS - SA 580 AAS - SA 510 AAS - SA 501	(Lecture of English) AAS - SA 550 AAS - SA 560 AAS - SA 570	(Lecture of English) AAS - SA 540 AAS - SA 600 AAS - SA 610	(Lecture of English) AAS - SA 620 AAS - SA 402
	Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30	Lecture 1.31 TO 1.51	Lecture 1.52 TO 1.84	Lecture 1.85 TO 1.108	Lecture 1.109 TO 1.129	Lecture 1.130 TO 1.142
	OR	OR	OR	OR	OR	OR	OR
(	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics Over , Company Audit Starts	(Lecture of Hindi + english) Company Audit	(Lecture of Hindi + english) Company Audit Over	(Lecture of Hindi + english) Standards on Auditing
	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07	Lecture 1.08 TO 1.10	Lecture 1.10 TO 2.02	Lecture 2.03 TO 2.05	Lecture 2.06 TO 2.08	Lecture 3.01 TO 3.03
	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 10 AM	Between 7 AM to 1 PM	Between 7 AM to 1 PM	Between 7 AM to 10 AM	Between 7 AM to 10 AM
(w	Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)	(Watch Video from the library )	(Watch Video from the library )	(Watch Video from the library)
HL1	(OTHER LAW) FCRA, 2010 Over	(OTHER LAW) The Insolvency & Bankruptcy Code 2016	(OTHER LAW) The Insolvency & Bankruptcy Code 2016	(OTHER LAW) The Insolvency & Bankruptcy Code 2016	(OTHER LAW OVER ) The Insolvency & Bankruptcy Code 2016	(Audit Starts ) (Lecture of English) AAS - Introduction AAS - SA Basic	(Audit ) (Lecture of English) AAS - SA Basic AAS - SA 200
						Lecture 1.01 TO 1.13	Lecture 1.14 TO 1.30
						OR	OR
						(Lecture of Hindi + english) Professional Ethics	(Lecture of Hindi + english) Professional Ethics
	(Lecture 5 to 11 )	(Lecture 1,2)	(Lecture 3)	(Lecture 4,5)	(Lecture6,7,8,9)	Lecture 1.01 TO 1.04	Lecture 1.05 TO 1.07

Please Note: This Time-Table is From 04-11-2020 (Wednesday) To 10-11-2020 (Tuesday )

OUR 24 x 7 SMS HELPLINE 9930767515